sequence of code?

.

a) What is a sequence in computing?
b) Which two blocks can you use to turn your robot?

C) Which command can you use to get your robot to repeat a

For each of these programs:

1) What is wrong?
1) What effect will it have?
iii) How can you correct it?

o

This program should move
forward, turn, move forward
and then stop.

\_
o

This program should move
around a square box and
finish back where it started.
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o 1 X FORWARD F'¥ 75 B
& 2 X FORWARD F¥ 75 B/

Lo 1 X FORWARD E¥ 75 B
"o 2 X REVERSE F¥ 75 K7
€I milliseconds
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